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Q.1 a. Draw the production possibility frontier under increasing cost, What is

opportunity costs? What does a community indifference curve depict?

the reason for increasing

15

b. Explain the basis for and gains from trade with increasing costs under equilibrium relative commodity
prices and comparative advantage. 10

f-.r .rl-y LS ,.- G+..;,l dD LrL- .,-j94., E31 ugJS !L-l ur.6pportunity cost !i tS Jlrl+,itu dr=: J d3y a;Jiti -..ill

-uH j,srJ-L,r$rJJlrl:tc-o- j4t*r-,Sv"e2ti:.'.-.-srrrOT*jrt'i'if,*f jd:

Q.2 a. What does Heckscher-Ohlin (H-O) model postulates? 10

b. Which force do H-O identify as the basic determinant of comparative advantage and trade? i5
. t-; rs:"r tS ts 

-:-lI:: J (Hechscher - Ohlin) d.Arl Jit* ..jll
. f"+,- o:s.J.t:. )t, eS cx:. f dJrLi jrl a; ,i_r +t-ir zs a-l:J (Flechscher _ Ohlin) .)L,_.rl -.,y+._,

Q. 3 a. What is meant by production and/or consumption being protrade, antitrade, or neutral? What are

the terms of trade effect and wealth effect of growth? 10

b. How can we measure the change in the welfare of the nation as a result of growth and trade when the
nation is large? 15

f l<}., jt lJ< J, c-JJr)l(,\jlri -s LrJt-j ls jJi j!'J f4? q,It !S gr,. r",,S'1i4!11 -rF tJ,i--F.]!Jl ,\j;lts,".le<! tl.,l+..jll

f..J,;fu l+. {rS .--,S 
"*tt+-" 

*S.}.S ..:;. r:r3 -1 6)[i.rS.5J..rJ a- ^+-r.5 6-.1S: -.pl ,rr.,;,r.,S g;Ltc .5.Sf" -},-S*t,.+

P.T.O.



Q, 4 a. ln d icate

[,exptain why the
of its currency.

all ttre ways in which
balance of payments

internationaltrade could retard development. . t0
of a small nation always improves with a devaluation or depreciation

15

f ct,.r+ -6 
..Balance * ff-T#'#,1:ifl##5f:ffr,#l# tfll

Q,5 a. Explain the Concept of J-Curve effect with the help of graph.
'b. What are the factors that determine whether a trade diverting customs union
decrease in the welfare of a menrber natinrr?

-u-.;E g.:t, d $ 
"S.il-S 

35 "J-Curve Concept" (.JD
t;lr. CX rpr +. # ey )i- rs..s "Trade Diverting Customes Union" S :l cr^_6 _j*i + &t* JS (-.)

:d&l+lS"+Striul
Q. 6 What are the motives for the international migration of workers? What is the effect of labor migration
on real wages, total output, and the relative share of national. income going to labor in the nation of
Emigration and the nation of immigration? Zs

f.r+irrc.ir..!l-!\5Jimnrigration;31enrigrationLlsrl:rr+td!-l a-s-li-dii,,,su_rr_rsJ-_).-t.,i-ll:Pj*i=f5*fltjri;:;;l;

10

leads to a net increarse or

1,2.5+ 12.5a. 7 w rite a short note on twg of the following:
a. lncome Absorption Approach
5 Antidumping Duties
c. Managed Exchange Rate
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NOTE: Attempt any FOUR qucstions. All questbrrs caffy equal marks.

Explainthe methbdology of Economrtri"@il. 25

4

Suppose you are given the model: Yi: Pr * ui . Use OLS to find the
estimator of Br. What is its variance and the RSS? Does the estimated pl
make intuitive sense? Now qonsider the two-variable model Yi : Fr + pzXi
* ui . Is it worth adding Xi to the model? If no! why bother with regression

' analysis?
(i) Discuss how dummy variables can be used to test (a) change in

intercep! (b) chan-ge in slopq and (c) changes in both intercept and
slooe.(ii) Discuss the problem of heteroskedasticity and methods to remove it.

(i) Outline the major steps involved in the application of the Box-Jenkins
approach to forecasting.

(ii) Consider the following model:
V,=fu*hXti*frfhi*u,;

From the following data estimate the partial regression coeffrcients, their
stdnilard errors, an-a tnc adjusted ana unia3ust# n2 values:

t ;lol;6gg Xz: 4o2.760 *r : Lo

Etf - ht:= oi,gaqa..zog f,fxr, * X2)? = B4Bss.096

25

15

10

10

15

15

P.T.O.

I(&r - ,ir)' :28o,ooo

LW - ?) (xtt -., &) = 4zstt,,goo

f,tX - 4(x2i ,-' fr) :74778.346

ECrii .-. *a)(Xgi, -,,frr) :4v96,000

t.-- l5
(i) .[n a r egr:ess io n o f ave ragl y*lSes ( W-, $] orr rhe n umber of e m ployees (if t' )[e' a rardonr sample of go fiirus, tt . ioilo,,ing i=gri*ririi [*.jt, ";li.oblarnecl-:

ft: 7.5 + 0.00grY

I - ft;ft, (16"tO) &2 = 0.90

llt 1N : 0.008 + T.g{llrv}

t: (14,43) (76_58)

?. I{ow do you interpret the two regressions?
b. What is the author assuming in foing from Eq. (l)to (2)? Was he

worried about heteroscedasticity? How do you tcnowf' 
'

c' can you relate the slopes and intercepts of the two models?d. car-r you compare the-R2 values of the two model;t wh, or why
not?

(r)

(2\
l?l - 0.gg



(ii) You are given the following data:

RSSI based on the first 30 observations = 55, df = 25

RSS2 based on the last 30 observations : ldQ :df = lJ
Carry out the Goldfeld-Quandttest of heteroscedasticity at the 5 percent' level of significance.

(i) What is meant by identification condition of a model?

(ii) ConsicLei the folloq,ing modifiecl Keynesian moclel of income cleteti
mirration:

10

t5

10

25

r,rrhcre

Cr: fro * FrtY,*Lqt

L : frzo * FztY; + Fztti*r * Ltzt

Yr-Cr*ItfGr
,;. ,:

C *'consumpbion cxper:dittrre
I invest.nient expendirurre
Y: irrcome
G - geverrrmenl exPenditur:e

G anct Ir-r Lr*sunred piedetemrined

a. Obtain the reduced.forrrr equa[ions and d:e,terrtrine which of the pre-
ceding equations arie ideuuified (eithcrjust or over).

b, Whiefr, mcthod wiII you'risc tc es.tiElate the parameters of thq oveS
identifiect equation and of the otactly idcntificd equation? Jrlstify
Jrour aJ:lswer.

Write note on any TWO of the following:

(i) Causes of coefficient variation
(ii) Dummy variables tap
(iii)Unit Roots and Co-integration .
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Subjecfi Economics Paper: III [Development Economics Theory and Policy] Time: 3 Hrs. Marks: 100

Note: Attempt any FO(IR questions. All questions carry equal mark,

M.A./UI.Sc. Part - If Annual Exam -20L9

Q.1. (a) Explain the emerging issues pertaining to LDC's.
(b) Write a note on Human Development index (HDD as a measurement of

economic development.

-e,/,,*v t,! J v u x Ll t L,lv r;y6 ; {
Vd e i rJ' r,gs($ ; $ul' 4- L Lf f,,! O ; i v

Q.2. (a) Discuss the rural industrialization in Pakistan.
(b) What is meant by Mechanized Farming?
(c) Briefly explain the concept of demographic tansition.

Pakis'tan. Discuss in detail.

- g-./,g. - c-J,lt, t, t r,ff , n $ $ fi 1l/ .v I t 9t 10 r,*,.f -( a O ; 4 rtdt, :r / j t r

P.T.O.

-(l-/,*..r,6 i t! u- tlr t,.f cldl (JD zr / Jt v
re-:t7{+"t(f (=)

-,.r-/oV.l,F /+/ LJ t-(r/vri Qt)

Q.3. Foreign Direct Lrvestment (FDD plays positive and negative role in developing corurtries like
Qs)



Q.4. (a) Critically evaluate balance ofpayment deficit problem of developing countries' (15)
(b) Do hade liberatization and globalization go in favor ofLDC's? Discuss (10)

-vl,l V 6 *s il? L +,v ut ct :ti Lu & ut L.lv 43 ; CtD,t /,)t r
-rt/$ -rE OV vt O L.lv :;t O ; f*,F v,t *,tl :t t:I t/ (7)

Q.5. Explain Fei-Ranis model for the improvement of agriculture sector in less developed

countries. Also explain its drawbacks. (2s)

-l-/*o, { tl * v L! $t,J t t il,j,/e>v, t! $t(r. n. )4 L Lu. /. { 4 6, ; vt Jv lyO ; { : a / ) t r
Q.6. (a) Explain the nature and impact of debt problem in LDC's.

(b) Establish link between deforestation and macroeconomic environment.

-s1./,*vr{ o1t ntr: } tf" -POi"vt.lv :;y6 ; { <-tt,> rt ;,)t r
-s7,|.uv't!,f vt')*i v 6 l,tt Zv Letiz (rr)

Q.7. V[rite slrcrt notes on any two of the following:
i. Hanod Domar Growth model
ii, Debt Laffer Curve
iii. Pros and Cons of Foreign Aid

-,,{ o!r.,d.-,1,J:rtr rz/ ,)tr

$t.l',f4'ii4 (JD
;)z:r.Aa (=)

etblttrltiLttr,{S k?>

(t 5)
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Subject: Economics Paper: IV (Research Methodology)

NOTE: Answer any THREE questions. All questions carry equal marks.

Q.l. (a) What is the difference between Empirical and theoretical research?
(b) Explain various techniques used in social sciences research and their limitations.

-L-fi trlimitatio rr{gt nltechniques-;P/ uLx)Pt U:f Lb vLJ.? (=)
Q.2. Discuss in detail the organization of a research paper on any topic of your choice.

- r/, / g. .- rP r-or ganization { 7.r,tf ,, c) t ;: L 4 15,t

Q.3. (a) What is meant by measurement and scaling in research?
(b) Elaborate various characteristics of sound measurement.

t c-:l 7{<-scaling.irlmeasurementr,l V (.-.Jl)

-q./*Vtt!,>pf ,-V tltound measurement (=)
Q.4. What should be the format of a county research report? How it can be diflerentiated

from a research paper?

t 7 d x & Cr,)',.{ - ? r,tf 4t o t ?lv n {format (c ountry Re s earch p ap er

Q.5. Write a short note on any two of the following:
a) Questionnaire Development
b) Elements of data analysis
c) Methods of communication in survey

-AULJ; L--t)tr SLJ -Ll/t P *ilyrn +6{ :-!-,;
(6)

(11)

t/ )tr

(17)

:r/lrr
(7)

(1 0)

:r/ )rr

(17)

:r'/ ltr
(8% +8%)

-'66 u td r,f v{ rheoretic abtthmpirical (Jr)

-t { tlp r,rr,{-L.t:t)l!4t* :a/ )tr
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NOTE: Attempt any FOUR questions. All questions carry equal marks.

Ql (a) Given # - 0.5 - O.2Y-:. When income Y is 25 units, there is dissaving of 3.5 units.

Find the saving function? [7.5, 7.5, l0]

Evaluate: (i) I(x + 3)(x * l)t/24* (ii)Io- (; - zx) ax

What is the Present Value of a perpetual cashflow ot':

(i) $1450 per year, discounted'at r : 5oh

(ii) $2460 per year, discounted at r :8%o

Q2 (a) What is an integrating factor? State the four-step solution procedure to find an

integrating factor.

(b)

(c)

il0, t5l

(b) Verify that each of the follorving differential equations is exact, and solve by the fbur-
step procedure:

, (i)2ytrdy+3y2t2dr:0

(ii) 3y2 r cly - 1y3i2t;ai: O

Q3 (a) Solorv rnodel exarnines equilibrlurn gror'vth lvith full employrnent of both labour and
capital. Explain. [10, 10, 5]

(b) Given y" (t) * ary' (r) + a2y(t) = 6

Findypwhen (i)az +0,(ii) a2=0,ar+ 0,(iri) aL=dz=0.

Find y" rvhen (i) al ) 4e2, Qi) a? = 4a.2, Qti) a? 1 4a2

(c) Deterrnirre whether the follolving equation is convergent without finding the
characteristic roors. y"' (t) + 4y" (t) * 5y' (t) - Zy - -+
Q4 (a) Find general and deflnitc solution ol'each equation. Also detcrminc whether the
equations have dynamically stable time paths. U2.5, 12.5]

y(0) - 6; !' (0) - B l;
y(0) = 5; !' (0) = -5;

(b) Find y(t) using the tbllowing information:

(i)y" (r) - 2y'(t) * 10y - 5

(ii) y" (t) * 6y' (r) + 9y - 27

(i) yt*z - 10yr*, * 25y, - g

(ii) yt*z - !t+t +llt = 2

given y(0):l;y(l)=5;

given y(0):4; y(l):7;

Q5 (a) Solve the following differential equation systems. [10, l5-|

x'(t) * 2y' (r) + Zx(t) + 5y(t) = 77 r(0) = 6;y(0) - 12;

y'(t) + x(t) + 4y(r):61
(b) Discuss the interaction of inflation and unernployment model in discrete time.

Q6 (a) Let the demand and supply be [0, 7.5, 7.5]

Qat=21'-Zh
Q*=-3F6Pt

Pt+t: Pr - 0.3(Qrr - 0rr)

Find the time path Pr, and determine whether it is convergent?

(b) Solve the following diff-erence equation by iteration:

!t+t:alt-0 given lt = y6 when t:0;

(c) Write a note on higher order Iinear difference equation.

Q7 Write a note on any TWO of the following: [ 2.5, 12.5)

(a) Domar Growth Model
(b) Phase diagram
(c) Domar [Jurden of Debt Model
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Subject: Economics Paper: V (ii) tApplied Economics and Computer Applicationl Time: 3 Hrs. Marks: 100

NOTE: Attempt any FOUR questions, All questions cury equal marks.

1 - --- - 
4- DL.suiU" tt t procedure of composing models and mathematical

equations in MS Word.
b) What is desktop management and performance managemerit?.

2 a) What is Analysis of Variance (ANOVA). How ANOVA is used in
' model building? 12

b) What is the procedure of creation and modification of charts in 
13Eviews and SPSS?

3 Discuss the use of SPSS in cost benefit analysis and decision making, 25

4 What is present value? Describe procedure to estimate present value in 25

Eviews.

5 Discuss the procedure to estimate the Cobb-Douglas production function 25
with constant returns to scale in Eviews.

6 Discuss the procedure to estimate demand, supply and their equilibrium in 2.5

Eviews and SPSS.

7 Write a note on any TWO gf the following. 25
(i) Simultaneous Equation Models
(ii) Hypothesis testing
(iii)AiUMA models
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NOTE: Attempt any FOUR questions, All questions carry equal marks.

1' (a) Describe the process of formulation of a linear programming model by giying suitable
example from business and economics.? (12, 13)

(b) what kind of problems can linear prograurming help to solve?

2' (a) What is meant by a dual Program? Explain using suitable example? (12,13)

(b) What relations hips exist between Primal Program & Dual Program? Give Examples.

3. Briefly explain critical Path Method (CPM). What are its limitations? (25)

4' Detine Assignment IModel Explain the Procedure of Hungarian method for the solution of
Assignmenr Problem. 

eS)
5. (a) Describe the nature and sc<lpe of operations Research. (10, 15)

(b) Explain various types of operations research models?

6' Explain in detail the transportation model by giving a suitable example? (25)
7 . Write shorr nore on any two of the following (lZ%, 12 %)

(i) Slack Variable

(ii) Project scheduling

(iii) Multiple rimes esr.imates
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Note: Attempt any FOUR questions. All questions carry equal marks.

Q' I a) what is money? Exprain differeni ru*iion, or*on"y in detail. (r 5)

b) Explain different definitions of money. Whicb definition in your opinion is best in case of pakistan? (10)
Q'2 cental bank is the head of money market. what problems are faced by the central bank to manage and activate

.tbe 
sl3rv growth of money market? (25) l

Q'3 what do yqu understand by food inflationz wr,u, ui. m1 ma;o, 
"auses 

of food inflation in pakistan? Discuss
varigqq measures taken by th9 government of pakistan to control food inflation. (5, 10, I0)
Q'4 E-xplain the view point ofKeyn.e: and Moletalisfs regarding output, ernployment and prices. (25)
Q'5 Explain the concept of exchange rate. Ho* can it be determined under fixed and {lexible exchange rate regimes?
Also explain the impact of foreigl exghal8e reservelol exchange rate in a country like pakistan. (15,10)
Q'6 critically explain the concept of money multiplier. How it can be helpful in controlling money sufp$ in an
:jolrTy l_ike !akis!4? e5)

Q.7 Write notes on any TWO pf the following: (l2tt2,l2t?)
a) Evolution of money

b) Cambridge equation

c) Tools of monetary policy.
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NOTE: Attempt any FOUR questions. All questi,ons cnrry equal morks.

-d tltJJ L -- tlt r SLi -L/-/,,P lt r tq L U
Q.1. (a) What is the tar reforms made in Pakistan?

(b) Explain the impacts of these tax reforms on the Economy in Future?

LE{Lt,l levrL'uf u:ctdy (JD
I Lgx,>t)tt{4,>! {ct{tnL,>btttt gt rff (=)

Q.2. (a) Explain the concept of Market Imperfection (Failure).
(b) How does Market Failure justi$i the intervention by the govt. in allocation of Resources?

-J_,f,-*v,L!,,1 LeJ *).>V*t!O y G;)t)

e.3. (a) Exprain the sarient reatures irJ.{#,#:;{x*'''{tt 
sb'! o )" *F'!d': (')

(b) To what extent it meets the basic requirement of a good tax structure?

-L/ctV.oVP t)LU r! 4u; Xoil/ Lc){l (,-,Jr)

e c-Vltu!4LgLiLeit,"t,ft,5-r/t (=)
Q. .(a) How does a government influence income distribution and resource allocation in an economy?

(b) Explain the issue of public goods pricing.

t 70 fi uD rr/ t/t e p,!,I v r,t { 6 t t x *'( ut,.:,2*,u F 6 / G;tt)

-t-/clV-Pfiacus',vt$r(7 (=)

:-:-!
(12)
(1 3)

:t/ltr

(r2)
(1 3)

:r / ltr

(12)
(1 3)

:r/ ltr

(r2)
(1 3)

,r'7it,

P.T.O.



Explain the characteristics of Inter-Govt. Fiscal Relations in developing countries like (12)

Pakistan.
Explain the importance of such relations. (13)

-q./ctV.oVP t!*w i1V1I ! ni d.Jv t16; -l-ts Lttu{y, (,-'Jr) :a/ )r r
-rlti? tr4g,tr{.>W clt (=)

Q.6. (a) What is meant by Public Sector Resources allocation? (10)- 
1Uj explain tho concept ofpublic goods' (15)

t7,t7{a.P{du;stct,t,ttJ,U (JD tdltv

e.7. (a) Define income elasticity of public Revenues. 
-L/evtt!''F LP,blic Good (=)

(13)- 
1ti n;ng oot olearly the diflerence between ta:< neufality and fisoal neutrality? (12)

-,t/qi{-4{J'lLLot/6''Q QnD / Jt'
+t/dtrJiu:ri"calNeutality.D lTaxNeutralitv (=) 

'L

Q.5.(a)

(b)

Q.8.(a)

(b)

Differentiate the following with examples: (10)

(l s)

(JD zn/,)tr

i. Direct Ta:res ii. Indirect Taces

Discuss the merits and demerits of indirect and direct taxes?

-/,/ev t --,.1 lV 6 J) I t tct
66

gE ytlL .ii ;F ,,>tDott .i

-,.//ggUyv rtuii t!,.8,ut ltor o't.,,t r. (.r)

Q.9. (a) Explain tho Wagner's Law of Public Erpenditure (13)- 
61 Criti*UV evaluite the expenditure policy of Gov.emment ofPakistan ' O?)

-,jo;l(wagae{sLawutlLelt)ttJ$7 (-ID s/ Jrv

vl,lVOPf,/t{*vtir$,(7{odY'e' F Q)
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NOTE: Attempt any FOUR questions. All questions catry eqaal marks.

-duA; L->tt v;rJ-qL); Jvrt*z+6{ i-:-,!

Q.1.(a) What are various dimentions of a project.
(b) Explain significance of project appraisal.

-r.g{k-rt? L,$t4 (Jr) zt/ )rr
-,5-ft uat(e$t4oftg (.,,)

e.2. Make olear comparison between present worth method and annual worth method of cost effectiveness

analysis.

-'{ :ft 4, } { t, gt, i :lv,4}, t, i )v a,b LJu tJ f0 t +ri,r ; ),
Q.3. What is the difference between financial and real investrnent? Explain the role of marginal efficiency of

capital in determining rate of interest.

-'$ orv, t! rt :,/ L,L7 :t * tf ,i i-,fL /, rg ) -,1-/C,' o i d, 6 rQtl P t tt t)t :r / ) t r
Q.4.(a) Explain what is meant by cross over discount rate.

(b) Explain price reflecting values and its role.

-$gl.er,2 r! Lirr ",,l, 
/ <;tD zr' / lt r

-'6,uV t,f /, / L et t st L*Pf r.{, (,.-)

P.T.o.



Q.5. What is Net Benefit Ratio? Explain its implications to get optimum level of investnent.

-'{,*v, { ot/ Lq t 4- L t-/f v {A O,?,! O,Qv7 | 7v xt! t i,/ v,*,v :a / i t r
Q.6. What is the difference between constant effect method and constant cost method? Explain the

significance of constant cost method in determining cost effectiveness of a project.

qt 6 Jtt {v ^a} d, L/2- / J g ;{t, r,{ogt 4gt -4 { t' o i,t a,t Jt {v,,t a} ), {v zt /,) t r
-1,*vt6

Q.7. Write a note on any THREE of the following:
i. Project Evaluation ii. Shadow Exchange Rate
iii. Traded versus Non Traded Goods iv. Net present worth

vd oit& {--&J-:ey, tz/ itr
i. Project Evaluation ii. Shadow Exohange Rate
iii. Traded versus Non Traded Goods iv. Net present worth
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UNMRSITY OF THE PUNJAB :""..o'o"'o""..':
M.A./M.sc. Part - II Annual Exam - 2019 i *o.t! l{.o.""":'il':;:';'i":

: Economics Paper: VI (iv) [Managerial Economicsl Time: 3 Hrs. Marls: 100

NOTE: Aflenpt any FOUR questions. All questions carry equal marlrs.

Q.l "Managerial Economics is a unification of Econornic theory, Mathematical Economics and Economics". Substantiate
this statement. (25)

Q-2 a) What is Markup Pricing? Develop and oxplail the relation between Markup on Cost and Markup on Price
formulas. <it't)
b) 

-Elnlain 
the underline relations using the Net Present Worth (NPW) approrch to investment project selection. (l2r)

Q-3 Citc some pot€ntial causes and possible curves for decreasing productivity growth in Pakistan. (25)

Q.4 Define the following statements: (5x5)
i) Standard deviation and Slandard deviation ofregression.
ii) Coefficient ofvariation and coefficient ofcorrelation.
iii) Diminishing marginal utility of money.
iv) Certainty equivalent
v) Risk adjusted discount rate

Q.5 a) A company estimates fixed cost for the product of $50,000 per year and the average variable cost (AVC) : $.5 + $
0.0025q (Where AVC is in $ dnd q is outpul.) (5i5)

, i) Estimate the total cost and average cost for the projected first year volume of 20,000 units.
ii) An increase in workers' productivity beca[se of greatsr experience during a course of the year resulted in a

substantial cost saving ibr the company. Estimate the effect of leaming on average total cosg ifactual second
year totalcost was 848,000 at an actual volume of20,000 units.

P.T.O.



!) Starsky and Hr-rtch. Inc., is an insulation contractor serving
Pennsylvarria- Demand and marginal revenue relations for treatecl
been estimated as: (7rrz ,7r,r)
Residential ilAarket
Pn: $1,000 - $ 0.0025 Qn
MRn = $1,000 - $ 0.005 Qo
Conrmelcial Market

-Pc: $750 - $ 0.000625 Q"
MRc ,.. $750 - $ 0.00125 Q.
W.here Q is totres ol'installation installecl mr<J P is clollars. Each ton
labcr and rnateriels expense:

both residential and commerciat custorners in
cellulose fiber insulation, a proper product, lrave

of installed insulation results in $600 of marginal

Assume that company can price discriminate between its two types of customers, calculate profit maximizing
price, output and total profit contributions levels.
Calculate Point Price Elasticities for each type of customer at the activity levels identified in part i; Are the
differences in these elasticities consistent oi inconsistent with your reconimended price differences in part az
Why or why not?

Q'6 What is dempnd estimation? How demand is estimated through regression analysis? Explain its merits and demerits.

Q.7 What are the main characteristics of oligopoly? What is its distinguished characteristic in relation to other forms of
market organizations? What are the sources of oiigopoli and give 

"*rrire "rrf,g"p"fv 
i" ;;e of ratistan. 1zS1

i)

ii)



& UNMRSTTY OF TrrE PUNJAB :""""""""'i":g M.A./lvI.Sc. Part-II AnnualExam-2Ol9 i.{:{ll';;';;';:';';:';;..!
Sribl"ct: n"ono.ics Paper: VII (i) [Htsto.y of B

NOTE: Attempt any FOUR questions. All questions carry equal marks'

-d &JJ L 
-r,,- 

t)t r SLi -q/J: lt r rl z--6{

Q.1. Discuss the Economic contribution of Ibn-e-Khuldoon.

-r.l I Vbt r; G v r! cl t *b st t

,.
:-:-,1

t/ ltr

:r/)r

r:/ Jtr

:r'/ )tr

:a/ lrr

zr/,)tr

Q.2.

Q.3.

Q.4.

Critically examine the contribution of Adam Smith to Economic thought.

-q/,k,rV LJ F L6t G v L r 
s Lr

Discuss the crises of 1970 and its economic effects.

- 4 uk*D t i v Lsl t il'd-ot v(J t, ; L, tel o

Veber's contribution in economics

Critically analyze the ideas of Economic Thought presented by Alfred Marshal.

J1k,t v Li *n (,6t G v L,f ,u L/ t

e.5. Examine the impact of industrial revolution on the contemporary economic thought.

-{,t g tot ) t Lu L?,4.> illi G v f ( L -a t {
Q.6. What is the future of capitalism as an economic system?

t*{uYtSSa,*L;vtGv4,
Q.7. Write a note on any TWO of the following:

i. Ricord's Theory of rent ii.
iii. The future of economic

,,f .>ir.rr,{.-tlJ;U, :t / ltr
,f trogto Q),,>u;Gv*!r' (7) ,16 o,P *:r(1, (."1r)



UNIYERSITY OF TIIE PUNJAB
M.A./IVI.Sc. .Paft --.II Annual Exam - 2019

Subject: Economics Paper: VII (ii) [Comparative Economic Systeml

oa ar o ta ooolatao a oato ao

o
t'; Roll No. ................ :tooooa aaa a aoaoa a o.rtao

Time: 3 Hrs. Marks: 100

NOTE: Attempt any FOaR questions. All questions carry equal marks.

-uE rJ *-t J C * $ty (O -L/-/-.t: Jtr tl $ i -, ]

Write down the important features of mixed economic system and compare it with socialist
economic system. In your opinion which system is more suitable in delivering goods and

services to the people in society? (10+10+5)

v ct /.- vt att &, Jr; L rl -J-/ s v L p ri v tlt lt : :t r fut,r q.f tj,e,g P 1r t! p i v $ t f lr r
.7cD r o:Q L LL./(t S,>tt tt,r;t /'r 2 t Lt' 1, et clV 1U

Q.2. Describe the fundamental characteristics of Islamic Economic System. In what respect the
Islamic Economic System is superior to the other Economic Systems. (1 s+l0)

-q/dr-*rf,";;r',),.{r,ttruiv.l,p$vftut-r1-,LS-r",cg'gtlptivLSu,t :r/)tr
Q.3. Discuss the achievements and experiences of the process of Islamization in Pakistan since

1 978. (2s)

l1./g. lu *l { t t c.L/ Lt t L v, uF v + ff) $ v tl tv r L,t: c){yt A 97 8 r : / | t r
Discuss the achievements and failures of communism / socialism in USSR. (25)

-'46.r,U*6rrtUr;t7fifSv) L*{ir I /{,.r:1,, t'/ ltr
P.T.O.



e.5. Describe the pre*equisites of capitalism. Also distinguish between competitive capitalism and

monopoly capitalism.
z2

-4U t:0/ dtil:.t/:usotbltt,$tts.l/O#Vf -'$rtg.At)$:tlt!SVt:tt)s.17 26/ L)t/

e.6. Explain salient features of the process of privatization in Pakistan. On what basis this process

-t{t u.:.ri ( F {,f ,,/ t r,s uW {-q./r)V.o* P ( t t!,f LO.,q,} Udl t / ) r r
Q.7. Write short notes on any TWO of the following:

i. Role of Price Mechanisn in Resource Allocation
ii. Environmental Problems in Capitalism
iii. Private Property Right in Islam

,,, r,*;{;'fr:; {;: 
r:'L -'z/ t'; r

Jv\Vst*$tt:st7 (=)

A" L"-r6,1',,t5*, Q)

was criticized.



UNIVERSITY OF THE PTINJAB
M.A.Mr$c. Part; rI,,.. As,nual Exam-20.1,.9 : Roll No. .. o........ o.... :

ootoroooaoo.ooooto. oo
Subiect: Economics Paper: VII (iii) [Envlronmental Economicsl Time: 3 IIrs. Marks: 100

NOTE: Attempt any FOUR qaestions. Alt questions cafty equal marlrs.

, I ' t'Envii'onmental poilution is a serious prolfeml'. rxprdirr why? 2s' Vfhat rnedsuies would you sugg.ri 6, tfia i.o*t'ion 
-of 

thir,' ' .

problem?

;^I" u l f ur,6 r;.,S 
fr-_ -r ;,,Jl,'*Dyii.i.!lJ.rll.trJ-pLi : 

,

yu+ j=lS JJJ+, crLl:ll !6 -. i , +!S c-rl-r:-

ao raoao oooaaoaa o o aooa
,o

2. a)

b)

-What is Kayoto Protoccl? Also explain its importance,,

Explain an effective mechanism that could control
. types of pollutants.

:

l2
different l3

-)5.

:,. . -cr_,S r.rl+,''l tl d url f3:l_.,1^ l$ a- cl$_i_r+ -ilS f -iff
J ftL: -i-,,S Ls.Jl /-1116 j-.F-*U -6 _2-ti, r iti.:. o J #.rf i o
cr;S coL;_l

In r'vhat ways can developed countries best contribute to the 25
alleviation of global and domestic LDC environmental issues?
Discuss in detail.

c.r;..tlL. +*.+> + el-.+ti^ _,t_llGJLe .-5.Jt* jitJ dJ,, -S qld c* ,tAj.,:l^l glS 
-+tg ;; rr= rS dJi,. J,+GL

:. . -q1_,1S r',-r d "!1.s3 
fuJ,r cifu

P.T.O.



4. How rapid population growth effect the environment? 25

Is there a need for regulating this issue and how? Explain '" ; J* ; G,, ";,'= 

1ffJ,.fj_f ]:, :. Si*"jf,

5. Wlratarel.heurbanenvironnrentalissuesinPakistarr?Howtheycan0520
be solved? Elaborate Your answer'

et fa uf- r+tS.,J= # -6 Ol 9t:u; S cj.,r'* I,X+IF\' aY j Ou4

<1-6 clh \aii t-'rl5

Explain the effects of Water Logging'and' Salinity on the 15

Environment.. ,: "
(b) ::ffiil il;;;e the recent Environmental protection Policies or 10

Pakistan.
-oj-;s obcrlJil ;JJ# Jrt d* -ri drt^ (.j'll

1. Write notes on any two ofthe following:

(a) Con mand and Control Strategy versus Incentive Based Strategy :

(b) Social awareness programs to conirol potlution'

, .. 
| ,rl^t t''^L- .,* -,'4 

6lrti^ ^l.r'1i4 t-J^t d,,,L {rS l+^'b I J^r (dl

-rr-6:*.,16i .t-*r- # if:+r'-ls JjJt (.+ '

12.5
-l-

12.5



TINT\{ERSITY OF TIIE PUNJAB
M.A./lV[.Sc. Part - II Apnual Exam - 2019

subjecfi Economics Paper: vII (iv) [Agricultural Economicsl
iE-

NOTE: Attenpt any FOUR qaestions, Att quations carry equal ma*s.

-d gj} L-- $tr SL) 4l/,P Jtr rq L6{ :-2-',

Q.l' Agriculhre is considerpd as the backbone of any economy. If it is so, discuss the evolution, scope and
importance of agriculture.

-t/-/obqt lrs *,6 tt L,>tt r] eqt j_a}g,t ri 6i{,2,{.*,/*t,t t / jrr
Q.2. Identift the problems io existing agricultural marketing systerr in Pakistan. Give suggestions to improve

this marketing system.

a a tf a. a(}t loo aao ao ot oa.
a
t'

; Roll No. .............o.. :
oo.r ooa aoaooooartato a

Time: 3 Hrs. Marks: 100

-,t /C *,Lt i t L 6,t { SA 0t i, -*l./tl, N Lt,} V u * L SA 0y:* 6, Ll ddt4
Q.3. Discuss the characteristics of land ownership in underdeveloped agriculture of Pakistan.

Q.4.

ll/ctv.oPf {fu.*(vt,:,,ni4*O;,{Ody :r/ )tr
What are the causes of fluctuations in the prices of agricultural commodities? Suggest remedies also.

lfv.6 erw LxLl*gr.ttlsv4)vt d,ui (,gt g r; :r, / ) r
Q.5. Discuss Ricardian theory ofcorn rent in detail.

-4/*b$cl6d,*o,P Ll:tQ, $/Jt/
Q.6. Explain the process oftransition from subsistence farming to commercialized farming in pakistan.

-ct-/eu'{tf LJ-lf AOfA,V.-.}tutfJ.vet,ddl :t/ltr
Q.7. Discuss the issues and problems ofirstability in exports. Also give solution ofthese problems.

- s1,/ z-i cf tf r J v u | /- J- fi,,fr t g t! J v L 
S 
g 

t 
S 
x,g,zt .,,"i I :z/Jtr

zr/ltr



UNIVERSITY OF THE PUNJAB
M.A./[VI.Sc. Part - II -Annual Exam - 2019

Subject: Economics Paper: V[ (v) JPolitical Ecooomy atrd Global Orderl Time: 3 IIrs. Mlrks: 100

NOTE: Atten pt any FOIIR questions. All qucstions carry equal marks.

Q. 1

Write in detail the rn.ajor theories of .political economy.atong with the critioal analysis of these'in

terms of their basic assumptions, their impact, and their application in the rnodern globalized

world.

Q.2

Does economic integration hold the key'for developing countries to "catch-up" with the. i:

developed world? Do international institutions such as the World Bank and World Trade i

Organization help or hurt development?

Q.3

Wr.ite a detailed essay on the concept of Globalization, tools of Globalization, lts models, lts ' '

lnfluence/Range, and its lmpact on developing economies like Pakistan. :

Q.4

The existing international economic order is widely believed to have aggravated global

, inequality and undermined global democratic governance. ln what ways might this order be

_ 
reformed to promote greater equality and democracy? p.T.O.

ataaaooooaoaaaaa aaaaa
a'
a'. Roll No..o.............. :taaa a aoo a a a ao taoaaa too



Q.s

a) To What extent do international development strategies offer the potential to eradicate

poverty?

b) Evaluate the role of N6Os in international development work. t12.5+1.2.51

Q.6

Define the term Globalization. Do you believe its prospects are threatened because of the

current economic crises in general and third world economies in particular? .
.:.:

q.7

Write Short Notes on any two of the followings: (L2.5x2=25ll

a) IMF

b).',Rapidftr,rctuationinForeignExchangerate.,its.causgs'andirnpactS

e) C.hina-Pakistan Economic Corridor, benefits and costs .,j ':: j
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a
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Time: 3 Hrs. Marks: 100
M.A./I}I.S.c. Part - II Ann+al Exam - 2019

Economics Paper: VIfI (i) pabour Economicsl

l.

2.

Note: Attempt any FOIIR questions. All questions carry equal marks.

(a) Discuss the significan"" oimlou, Econornics in various sectors of the economy (10+15)

(b) Explain how the problems faced by workers in developed and developing countries differ'

(a) Discuss the firm,s short run and long run labour hiring decision- (18+7)

(b) why does a profit-maximizing firm hire workers up to the point where the wage equals

the Value of Maiginal Product?

(a) What shape wilt the labour supply curve take if the size of the substitution effect always
/l Arl (\

exceeds the size of the income effect? Explain in detail' 
. :'v 

'l L r )

(b) what happens to hours of work when the wage rate falls? Decompose the change in the

hours of work into income and substitution effects.

Unemployment is a very serious problem faced by developing countries. Discuss the various

factors which have led to increased unemployment in these countries. QS)

Discuss the validity of the short run and the long run Philips curve. If the government targets -

inflation or unemployment alternatively, would it be a successful policy particularly in an
(2s)

under-devel0ped country? 
migration. (25)Criticatly discuss Todaro's model of labour migration'

i

Write short notes on the following: (12.5+12.5)
(a) Child labour

(b) Wage discrimination in labour markets

3.

4.

5.

6.

7



UNIVERSITY OF THE PUNJAB
M.A.llV[.Sc. Part - II --Annual Exam - 2019

Subject: Economics
Paper: VIII (ii) [Human Resource Development and lVlanagementl

aato t a a a a t a a oaoa aa t a0.
o
af
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Time: 3 Hrs. Marks: 100

NOTE: Attempt any FOaR questions, All questions carry eqaal marks.

Q.1. Sketch out the perspective plan to develop Human Resources in Pakistan.

Q.2. Briefly outline the impact of poverty on human capital. What primary
measures would you suggest to remove poverty in order to build
productive human capital in Pakistan?

Q.3. Discuss human development as a source of economic development in case
of ASEAN Countries?

Q.4. Discuss the status of women as development agent in Pakistan. Wh at are
the policies to improve women conditions in Pakistan?

Q.5. Rapidly growing population growth affects human development. Give
suggestions to control population growth.

Q.6. How can manpower requirement be forecasted for public sector in a social
welfare state? How can you forecast manpower requirement for
Pakistan's seryices sector?

Q.7. Write note on any TWO of the the following:
i. Labor market information system in pakistan
ii. Human Development Index and implications
iii. 

.Social 
conditions in less developed countries and earnings of

women

(2s)
(2s)

(2s)

(2s)

(2s)

(2s)

(12%+tzyr)



UNIVERSITY OT THE PUNJAB
M.A.llVI.Sc. Part - II AnnuFl Exarn - 2019

Subject: Economics
Pil;;r vm (i") [Economic p.io"ipt"!, Sttut"gi"t 

"nd 
Ttd'

NOTE: Attempt any FOUR questions. AA questions carry

a) Explain channel conflicts and channel power.

b) Write a note on Market control and Marketing :

o oa a a aoa o oo aoo t a a o a ao

o
tot RollNo........."".." o
ta oao o o o a o o oot tt 

"ot 
t'

Time: 3 Hrs. Marks: 100

Audit?
.!

rl

i|,rxpiainCostManagement.::'.:
bi Expiain causes for higher cost and met[ods tq,;"';,

l):.'
,l . 'r minimize it?tllllllllll4s lLi... .:-: ., .--..::

i) Explain segmentation and i[s adv?ptages ? 
'I a) Explain segme-ntallon and its adv?ptages ?

I b) What need for effective Segmcntation ?

| -, b) irportance of Prf ces and methods to determine

a)Explainb',y..rbehaviortoMarketing?
b) What factors are responsible in creating,impacts on

' , , Consumer behavio r? i

i
, ,, . '. . I

Write short nda. on any two of the followingt ': ' '

b) The Promotional P,qogrf,rn , , l



UNIVERSITY OF THE PUNJAB
M.A.M,Sc. Part - II Annual Exary 2019

Subject: Economics Paper: vIII (iii) tRegional Economicsl

NQTE: Attempt any FOITR qaestions. Alt questions carry equal marhs'

-* 6 L-t J L-> ttr lJ -cl,/P Jtv rN,.f : -.:-, i

e.l. Define regional economics and explain different types of regions. Explain the linkage between

planning and implementation a-s grass root level'

{4,;;,L;'r,,f ,i,5*.n',,{ S,-4/,-'v'tloi*Lf .-e 'ts1/'-'v't!o*[v* 't/')t'
-r/-./,.*v'

e.2. Explain theoretical and practical problems of regional development planning. What are the

criteria for development ofbackward areas?

t 7t/,pd ; t! oi *,tv4 -1./,*u,t! J v {,'t dt / LO *.* Ag ; 6v *'r / )t r
e.3. What is shadow pricing and socio-economic development? What are the social and economic

retums to develop backward regions?

clr/tri6vrtivLL;-u.z;y6i/*l)ho.tv{ta:t7{--6i3v'6.v.T IShadow Prioins :r/)tr

e.4. Explain local projects and benefits of these projects. Make a comprehensive cost benefit

analysis of socially uplifting projects.

cost Benefi t An aty sisL L Lu 2't * t t! tl lP clt'',' ) $'v -s7'/"*w ( l i L gt't g t r' (J v''r' S )r r
_s1/

P.T.O.

ao a a a aao a aoa a oaaoaaaa.
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Q.5. Explain centralized and decentalized planning. What is the rationale of decentalization and
functioning of markets?

{:rzLOecentalizea/-LL,/1(LO$2-q,[ei4!plDecenaalizedzrCentralized $;L)tt

-Ll'f'eot
Q.6.(a) Explain the reasons ofregional disparity in Pakistan.

(b) Give policy suggestiom to remove regional disparity in pakistan.

-sy,lsgegz$eta[v u 4 odt, (-/t)t/ Jr v

-,1-/rJ,/ yL Z Lv Lo,6 6s *,.t ctd! Q)
Q.7. Write note on any TWO of the following:

i. Convergence divergence debate
ii. Spatial and economic sfucture of regions and regional disparity
iii. lnternational income differential and issues

-9{.}rs,,{.-gt j-;a,,,> :z/ ltr
Ll-/,ri..zdivergence.Convergence (.-.,r)

tt-./,2,u'1!l61ivntgvLe,66sartcti* (n)
t*t4/v,t'iL'ri6tjttto| e2)


